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i) General Awarencss

. Tha name of the cyclone which hil

Vishakhapatnam on Sunday tho
12 Oct, 2014 is

(A) Gudbud {BY Hudhud
(C} Budbud (D) Mudgad
Kailash Sathyarthi, who has besn

salected for Nobal Peace Prize 2014,
is tha founder of

(&) Bachpan Bachao Andolan

(B) Mahila Bachao Andolan

(C} Balika Bachao Andolan

D) Gram Swacchata Andolan
The hilly towns of Kullu and Manali
arg located in

(A)  Jammu and Kashmie

(B) UttagPradesh

(C) Meghalay

(0} Himashal Pradesh

Who won gold medal at the 177

Asian Games in the men's hockey
final 7

(A)  India

(B) Pakistan

(C) Bangladesh

(D) MNone of these

Prime Ministar Narendra Modl on
2.10-2014 launched _ afive
year initiative, reclaiming Mahatma
Gandhi's vision of a clean India.

(A} Shrest Bharat Andolan
(B} Swacchata Andolan
(G} Swacch Bharat Abhiyan
(D) None of these

8.

10

11.

12.

13.

Which ane of the following is the ore
of iren 7

(&) Haematita (B) Bauxite
{C) Magnetite (D) Srnaltite
Indian Constitution came to force on
(A) 15-8-1847 (B} 15-8-1950
(C) 28-1-1847 (D) 26-1-1950

The river iha! deesnal originate in
Wgsiﬁrn (Ghats is
(A} Kaver
(C) Barak

(8) Valgal
{D) Godavar
Who ia the Governar of Kamataka 7
Ay C. Vidyasager Rao

(B) P. Sadhashivam

(G) Kalyan Singh

(D) Vajubhai Rudabhal Vala

Who was the founder of Magul
Dynasty 7

(A Akbar (B) Babar
{C} Humayun (D) Birbal
Who wrote Cias Capilal 7

(A M Gandhi (B) Stalin
(C} Plato (D) Karl Manc
The cheapest means of ransport s
(a) Water ways

(B) Rail ways

{C]  Air ways

(D} Moneof these

Days and nights are causad by the

of the earth.
(&) Size (B} Rotation
(C) Temperature (D) Bad peopie
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141,

15

1E.

H

18,

o5

{C) Sahara
%

Pastal index (Pin code) was introduced
i Trvcdia in
(&) 1970

_ B 1669
(C) 1872 !

3y 1875

Almuspheric pressura is measured by
{A)  Ssismometer (B} Ammeler
() Galvanomeler (D7 Barometer

Exchange of goods wilhout the use
of money is called

(&) Barter syslam

(B} Banking system

() Utilty system

(L) Mare of these

I'ha largest desen of tho world is
(&) Thar (B} Kalahari
(O} Kharan

— founded the phikbsophy
called Vishistadwaiia,

(A)  Madbwacharya

(B} Ramanu@charya

(C} Shankaracharya

i} Mittalacharya

: lemple was built by
Haja Raja Chala.

{4} Sni Krishna

(B} Madhurai Meanakshi

{Z) Erihadeeshwar

(B}  Balaji

Where was the Mohammead the
Prophet borp 7

(A)  Mecca
(B) Madina
{C) Bhagdad
(0)  Coulathabad

2.

24,

Pt

2

27

JAO A  SO

Ligfl yearis a unit of measurement of
(A Intensity ot fight

(B}  Temperalure

(G Waight

{0} Distanca

Which planet looks reddish in the
night sky ?
A Jupiter
iC1 Mars

B}
1L

Safurn
Marcurny

Which sports 15 Learnder Pasgs
associatad with 2
(&) Football

(G Badminton

{B) Hockey
(B} Tennis

Who wrote the ling "A thing of beauty
158, joy o Bhert

(A} P.B. Shelly

(B} Rabindranath Tagore

(Gl John Keats

D] Aristotle

The previous name of Myanmar was
(4] Bangla

1B} Burma

(Cj Malay

(0 Mone of these

Barack Obama is

{A;  Prime Minister of U.S.A.
{8y Govemcroftl5A.

(G} Prosident of U.5.A.

(D} Secretary of State of LLS.A,

Tai Mahal was built by
(A} Mumtaj Mahal
(B} Aurangajeb
Hurmayun

Shah Jahan

[T}

(B}
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28, Which of the tollowing is a hardware
and not & software 7
(A) Excel
(B Printer drivor

(G} Operafing system

{0y P

28 Mary Kom 15 associated with
(A}~ Wrestling {B) Boxing
() Sguash (D} Badminton

30, Ramayana is an epic written by
(AY VWyasa (B)  Vishwarmitra
(G Walmiki (D) Vasishta

31, Teachors day is observed on
(A} Noverber 14 (B) October2
1G] August 15 (D) Septambers

32, Jayalalitha, gJormer C.M. of Tamil
Madu, who has besn convicted

recently in the disproporionato assets

case is the lsader of party.
(A1 DMK (B) ALADMIK
(G AIDME (07 ADMEK

33, Who is the host of the spisodes of
Kaun Banega Maha Crerepathi 7
(A} Ameer Khan
(B) Shah Rukh Khan
{C) Amitab Bachechan
(D Mons of these

34, Which of the following is not a type of
chegus 7
(&) Crossed chegye
(B)  Blank cheque
(C) Bearer chegue
(D} Speed chenue

35,

40.

{A)  Reserve Bank of India

8
.
OO SO

R8I stands for

{B) Pegional Bank of India
(C} Restricted Bank of India
{C) Reprosentative Bank of India 1

Whers is Bandipur Naticnal Park %
{A) Andra Pradesh

{B) Kamataks

{C) Assam

[0 Orissa

The site of Harappa is located on the
banks of the fiver

A} Saraswati {BY Indus
{C] Beas e} Ravi

- Whao among the following has writton

the famous book *Malgudi Days" 2
(A} Habindranath Tagors

(B) Wiy Tendulkar

(C] R K. Marayan

(D) Deepak Chopra

Minister for Home &ffairs in our Union
Government js

(A1 Arun Jailley

(B] Rajnath Singh

(C) Sushma Swaraj

(B}  Ananth Kumar

Hanuman's leap lowards Lanka
marks the beginning of Sundara
Kanda of

(A} The Ramayana

{!._3} The Mahabharatha

(G} The Bhagavatha

(D Mono of these
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ii) General Intelligence and Reasoning Ability

41, Avinash is Ravi's eldest brother, Raui
s yourkger o Ajay. Raviand Ajay are
not brothers. Which of the following
stalements is dafiniicly true 7
(A} Alay is younger to Avinash

-8}
(G
)

Directions (Qis. 42 — 46) Choose the one
which does not belong 10 the group to which
other threa beleng.

Avinash is voungerto Ajay
Afay is yaunger tg Rawvi
Ravi is younger o Avinash

4z, (A) Leaf
(B) Raoot
(&) Sand
o] FIEwe:

43 (A) Swdat
By Site
() Sour
D) Bittar

44, {A) Anxious
(B) lgnecus
iy Sedimentary
(D) Metamarphic

45. (A) 28
(B 12
(C) 23
{0y 16

45 {8} Georgn Bush
iBY Bill Glinten
() Marendra Mod
(D1 Barack Obama

Directions (0s. 47 = 50): f A =35, B =6,

G =7, D = B and g0 on, what do the following
numbers stand for ?
AT 2PDEBIPE
(&1 PRIYA

iC) MEEMA

48. B22 152718
{A) BROWN
(B1 WHITE
({C] GREEN
(0] BLACK

{B) NEEMA
(D) RUDRAA

qa,  TETe20nE
(A MOPED
(B) PLANE
{C] MOTOR
(O TRAIN
5O, 22514518
(A1 FAJAT
iG] RAJAN

()
(D]
Directions ((s. 51 and 52) | Choose the

correct allernative in each case which
subsiitutes tha question mark (7).

BADAL
BIMAL

51, Adult;Baby:: Flowsr: 7
Ay Seed
(8} Bud
Gy Frui
(D) Buttartly

R Good:Bad: Virtue: 7
(A} Blame (B]
(C)  Despair

Sad

M Vics
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53,  Inacerain code 256" Means "y Ol A
gnod”, 637 maans "we are bad"” and
58 means "good and bad". Which
of the Tollowing represents 'and in

that code ?
(&) 2 B} =
(cy 8 (o) 3

Girections (Qs. 54 — 58)  Letters of cenain
words have been rearranged and the
jumbled spellings have heen givan o
Ot of the chaices given below each guUesticn
choose tha last Iotter of the cormect word.

YISEAL
(A E
B L
“Cy R

D} §
CAPCET
iy €
(©y A

54,

55,
By T
> P
AYDOT
(A) A
(c) D

56.

(D} ¥

7. ERMSECH
(Ay 8
(B) |
©) E
o} R
ILCEQP
(B -E
B O
Gy C
e

58,

I:Jt =

R e

5g. How many 8's are there in the
fellowing series of nurmbers which ara
precadad by 7 but not immediately
followed by 87

5705RLTETETRE04ETTEEETE3

(A) One (B] Two
() Thres (D) Four
G0, In a certain code MONUMENT s
written as ONPTODPS. How is
BEAR written i that code 7
Ay ADBO (8} DGCT
(G CDCS (b} DDCQ
£1. Painling to a lady in the photograph,
Dinash said, “Her mothers.

husband's daughter's brother is my
brothar® How is the |ady valated 1o
Dinesh 7

(&) Mother

(B} Sister

(C) Daughler
(D} Grandmolher

Directions {Qs. 62 — 65) - Find the missing
varm of the sequence given below.

K

&2, s
15"

o B

=
rﬂl

1
a0

1A

Py
(ol

H

sy
G}

(o)

e
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63,

BY.

A

. 4,8,

1,87 15,21 =
{A) 27
(B) 29
s
iy 33

16,25, 36, —
(AY
(B)
{C)

(D) 64

R E K, 0 -

(B) 405
(8) 305
(C) 99.5
) 485

Ajay works more than Rarm. Alok
works as much as Raju, Pankaj works
leze than Alok, Rarm warks maore than
Aok, Who warks the most of &l 7

(A} Ajay
(B} Ram
(C)  Alok
()  Raju

Charithra went lo the movies nine
days ago. She goes to the movies
only on Thursday. What day of the
weeok is teday ?

(A Sunday
(B} Tuseaday
(C) Thursday
(D) Saturday

BE.

70.

T2

-5 big

T A

A father talls hiz son, ‘| was of your
present age when you were bom®. If
father Is 36 now, how old is the oy
now 7

(A) 15

(B 18

C) ™

o 17

Pune is bigger than Jnhansi. Sitapur
is bigger than Chittor. Raigarh is not

ig as Jhansi, but bigger than
Sitapur. Which is the smaliast ?

(A} Jhansi
(8] Fune

(C) Chittor
(D) Sitapur

CARE | ERAC ::BEAR 7
(A) RAEB
(B) REAB
(C) AEBR
(D} BARE

BANK : CBOL ' : MORE : 7
(A) EROM
(B} NPSF
(C) PSFN
D) ROME

Raju travels 100 m to the North, then
from there 100 m lo the West, then
from (here 200 m ta the South. Inwhal
diraction is he now from his starting
paint 7

(A) South

(B) South East

(G} Wesl

(D) South West
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74,

T4,

gidet

TE,

A B, G, D, E, F, 5, H are sitting in a
cirele faging the cantre not necessarily
i this ordet. A is facing ©C who is rdght.
inthe middle of E and B. D is sitling
lothe left of A, His fghtin the middie
of Gand E Fistacing H, Whois sitfing
totheright of A7

(A G

B F

(C) B

{2 E

Il. P denotes "=, O denotgs %', R
denotes 'Y and 5 denotes -, than
1B P4RELE=7

(A BE

(B 53

{C) 57

oy v

How many 7's are there: in the
following segquence of numbers which
are preceded by 3 and immediaisly
followed by 87

54708327 5543T0R553798

(A Cne

(Bl Twao

{r) Three

D] Four

in lhe following four pairs, ree pairs
have g common relationship and one
pairig different. Select the one which
i differont:

(Al Schaol — Teacher

(B} Fisld — Fanmer

21 Templs — Sirast

(P} Gourt - Lawyer

wfif=

s

78,

iz

.

1AL 17

(B} {44, P2, 10)

A RTRB T LR ETAER
ifin a ceram code 'nel limsin’ means |
"how are you', 'be net sin' means
"whers are vou” whal is the code Tar
‘whara! 7
(A) sin
() tim
{C] nst
{0y ble

Find the word which cannot be mards
from e letters of the given word |
ATHMOSPHERE

Ay HEMOTE
(BY MOTHER
(C) HEART
iID) POSTAGE
Whizh number can be placed al the
sign-of interrogation 7
2 22 40

13 1% 32

11 & ,

(B) 13
(G} 1
iDy 1§
Which setal numbers is like the gven
o

(48 24, 12)

(AN M 6 PR B B

(S} {42, 20, 148)
(D) {40, 20,10
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%. iy Arithmetical and Numerical Ability
J"lﬁi g1, TWaEzh =1 3 =2 55, PrO=5:2G:R=314 PIRR=T
g1 (Al 018 (A 1585 % B teiacd
" (B3] .18 oy Beed B T Bl
) 18 a0, Whigh of the follewing fractions is
D) MNone ot inese e
b more than E iy
a0 Siceessive discounts of VO and 205
fa pyuivaient to a single ascount Gl i 14 (B} 71
' i) BE% (B) 80% b 101
- {G) 15% (D} 26% an 15
: (& =3 5
#3,  Asguargofany mheroannot arad with
(&) 3 (B) 4 01, @ persens can piough a field In 25
{C} 5 (o 8 days. In how many days will 15
: _ A persons be able 1o camplete the jotr 7
84. Ona r:;act map, 1om epesents 19km, (o1 8] 20
So, 1 omon fha map represents Gy 18 (D) A5
(A) 25km (B1 18km gz, A lrain covers A distanca of 80 kn al
g P | frm (D) B2Ekm a speed of 40 kmih for {the first 80 km
i Ao _ , snd na remaining distance Al a
85 Tha producl of twa consecutive EVeN specd of 20 knvh, Find the aveiags
aumbers is 288. Find the numbers. spend of the train on the joutnay.
':gl :g E’“: ;‘; {E? E ﬁ”‘i 123 (ay a0 ki (B} 32 kmih
LR By, 2mE ) a8 kb Of 28kmn
g6, An amount doobles iself in B years
al simpla interest. Al thie same rale it 0BG %085 - 015 =015
will become threes timas Iy oe, = 0850 15-__-_-?
(8 16 years (B 24 years ; =
C) 12 years D) 18 years ) s i) 89
ey 1.0 0y 6.7
1 g L
gr, ag—=8 8 togsd o4, ihatis the vaiug o1 28 7
(A 4 (B 2 [AY 2 (B) 1
() B (Y B & = 1
ag. The radius of & whesl is 7 om. How 8 ) 2
many revolutions will it make In : oo W
traveling 4.4 maters ? Ob. BTG = a0
[Ay 1000 (B 100 (A} 5500 (B) 550
ey 10 o) 44 (CYy 176 (DY 1760

—_ e
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80 7
96, ?—' E:!
[A) A0 (B} 400
) 800 o) 60
17.28+7
g :E-E-HE'.E i
(&) 120 {B) 1.20
() 12 o) 0.1z
98, After reducing Ihe price of an armcle

100,

101

A=

by 30%, its sala increases by 0%,
What is the eflect on the revenue
roceipts of the shop 7

(A} 10% Increase

(B)  10% decrease

{C)  18% increase

(DY 16% decrease

After John gave Rs. 12 ta Hatl and
Hari gave Hs. 4 ta Johin Tram their initial
armaunts, I:H:ﬂh nad equal amounts left
with therm. Who had tha smaller
amount initially and by how much 7
(%) Harl by Bs. 18

(B) Jobn by Rs. 4

(Cy Hariby Rs. 12

(% John by Rs. 8

How many 2 digit even numbers can
be made from the digits 2, 3, 4,5 7

(A) B B 7
<y & o) 5
3 8 2
Fingd the H.G.F. of - =it
3 2
A 5 (B) 1
1 5
@ % B 4z

102,

103,

104,

106,

106,

107

L L

“'ur:j i T.THE: ‘ﬁé =":-".
() 3464 (B) 5198
(G} 4732 (D) 3173

| medianof 5,9, 11, k-4, 25, 27.
i519.%=12

(A 21 {By 22
1G) 20 (D) 18
For As. 2,000 what is the differance:
hotwaen compound interest and

simple intares! at fhe rate of 10% fof
2 years ?

(A} Rs 60 (B} Rs. 50
(C) Hs.40 (D) As 30

By selling an article for As, 24, ama
loees s much percent as ils onst

price. Find ils cost price.
(#) Rs.300rRAs.35
{B) Rs: 2501 Hs.45
() Bs 40or Rs. B0
(D) Wone of these

A parson deposits a sum of As. 150
every momh in & Recuring Deposit
Account. At the end of & years, ha

receivas an amount of Rs. 15,000,
Find the fotal interest recelved By him.

(A  Rs. 4,000 (B) Rs. 4.
(G} Rs. 4,500 (D} Rs. 3,801
Rernove the brackets and simplify
S - { Za-a-b }'--Eh
(&) Bab

(B} 2a-+46b

() ha+2b

[ Ga+20
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- =
108, | 5""*:| - 625, 5 —7
Ny

(A 4 (Bl 3
(€ 2 iy 1
108, Write 55 = 125 in the form of lagasthm
“(A] logg125 =3
(B} log,5 =125
(C) log,125 =5

E] logn 125 = 0.5

110, Abag contains & rad and 4 blue balls.
What is the probability that 2 ball drawn

at random fram this bag is red 7

) {E

| e

4

aing |

(G} (D}

B

111, Thelength ofthe diagonal of a square
i ﬁa.u:-‘-' o, Find ifs area.
{A)y BBsgcm

() 20 sg.0m.

(B) 40 s0.cm
(D)

112, The radius of the base of aoylindrics|

wvasselis 14 cm. ils heightia 10 cm
find the volume of this cylinder,

1a) BOO0 ¢ fEIfI G100 c.o.
12} B8 (0] 625006,

A marrwalks 20 m 1o the South and
from thera 40 m Lo the East and from
there 5O miathe Morth, Hw.- farizs ko
riow from his starting point 7

(&) 50m (By 40m
€1 30 m (D) 45m

24 801.0m.

114.

115.

116.

g e

118.

118,

120.

0O A A

Ay owins 580 sharas. The face val e
of sach share is As. 25. Tha comparny
declares a dividend of 5%, Calculate
the dividend that Ajay will gel.

{A) Hs.1,200 (B} Bz 1,260
iy Hs 1.300 (D} Rs. 1,360

Tiwari invested Rs. 25,040 in 15%
Re. 100 shares guoted al a premium
of 20%, Calculate the numbar of
shares bought by Tiwari,

{A) 200 {B). 222
(ZY 250 0y 242

Il themezanof B, 4, 7,4, 10is 8, find
the value of 8. '
(A 12
= 13

(B} 10
(D) 11

Tha sum of all the firsl sidy natural
numbors is
(A) 1830
(<

B0
1500

(B
1500 ()

A wirg s in the form of a circle of
radius 42 cm. Itz bentinto asquare.
Determine the side of the souare,

(A) 60 cm §=3)
(G) Foom (D)

Beem
A5 T

A train of 250 m length s running aia
spaedof B0 knvh. How much timea doss
It fakes o pass an cloctic pole nareclet:
by the side of the railway track &

(&) 20 se0, (B) 25 sen,
(C) 30 ses. (D) 15 sag,

Tha lengths of the diagonals of a
rhombus are & ¢em and 30 cm
respectively. Datarming the area af
this rhombus,

(&) 20sg.cm.
() 80sg.om:

(B} 40 sg.cn
(L) 30sq.om
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iv) Test of Language . Hindl
ey wiEor ; R
o 121 — 125 ¢ T B e g | ¥ 126-130: il T e FeeT T
" e 106, (A) IR
121, =i (B) T
(A) T (C) s
(B = (D) =HEE
(C) =Eedl 127, (8 T
(D) HATEH By Fwme
109, wd o) TEEEE
(e 128, (AY STEEE
(C) =S B)  FEE
(D) BT 4 ()
101, i (Y ST
(A @ 129, (A} WEH
(B) 94 (B) TR
() = (C)  HSE
(D) E (D) e
124, e 130, {A) TR
Ay TR (B} THEH
B {C) T
) W (m) 7
(D) TEAE . 131 135 F1 o) R el T TR
B TR |
125, STERE
(A} AT 131, TRl
(B} ST H {Ay TERT
(C) FEEH E T";jq_{
GHAEE (D) TERE
A* -24-




0

132, 1
{A) =
(B} ¥
(C) =
(D) =

133, a7
(A) 39T
(B) =T
(G} 3
{D} =1

-

134, T
(A A
(B)
(C) Haw
(D} EE b

135, UHd
(A} HFE
(B) Hre
(C) W
D) TH

9.136 5l 137 : 54l s g3 e

136, (A} I =
(B) & Twy Rl s ey
(C) T8 T =t i
(D} FEH 1 = e R

137, (&) B3 Fram e
(B G R ud
() Frera vy
(D} ¥ R TR

f3a,

138.

JOD-37/LDCK-14
SRS
(A) i
(B) W
C) &
(DY 58 o

"B omEE e e - v a2
(A) BT U e = R

(B) = uw et s s

(C) BT o 7 T 2

(D) 70 srad Fom S T

. 140~ 142 A= B e Remrger il

140,

1.

142,

TR

(A e
(B) Sl
(C) Frrim
(D) T

Ein i

(A} TTHIRER
(B THifEs
(€ mihe
(D) sl

=1

{A) =9
(B} T
(Cy Tt
D) T
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7,143 3% 144 . T Burd ypEii ey veat

143,

144.

(A) s
(B) T
(C)
(Y =

{A}- wil=
(By T
(C) o
D) e

9. 145 31 146 - 3w 8 9 Fifaw |

145.

146.

147,

A*

S T R et A EE
(A) =

(B) e

() ot
(o) el

ErEanACek Ak ] fam
Y |

(&)

(B) Tam

(C) R

(D) T

T e e T R - ge ar
FEHE T

(A) T e S

(B} TTERITeTh 9aHT =16

(C) Wi Fe

(O} T

148,

149,

150.

151.

162

IR WO YT TR s
wiferd) ) Te AT I
(A) I
(B} IR
(C) Tl
(D) FiE

wl v F YT N E
(A) ¥E

(B} ATEHRIE

(C) i

(D) =

et arem = A ErgdE e R
(A) FHETH
(B} Rl
(o =1 1
(D) AT

dleh weAm FEHL G e 9T |
BiyTER AT |

(A} T
{B) TR
(G #ig
(o)

e e o e g ol
CANRCEL
(B) fiam
(Cy e
(D)




RO AR A
153, Tam TR Eme s e k|
(A] T
s EEL
(G A
(D B

7 154 - 157 : feiaieriad e ) TE 4
Foril oy ] o F et (T, |

SRS P o T T AT O R P
S v T ST ] TRITE e SR B T
o 195 1 R R ] | e A 1 TRT
T | e e e T E w
et =) AT AT i aE e | R
3 =l ST S AT B geE T g
o T R e e S T -] A
o ) e w3 R R TR H

et |

! 1T

154 s pm g g el Tl e 2
(A EETEE A
(B) R T
(G e
(D) T AL

vn. T S T T o e e
S ETT T T
(A) FIHE o T
{B) T T O
(Cy I H A e g
(D) =N S T e

15,

1a7-

158,

160.

JOD-37/LDCK14
i = el 1 7
(B i F A e I
(B oA TR
() Fte T e H e e
(o) = Il A HEmEmy il

e T o TR e 8
() TR

(B) Al

(C)

(D

Tl e T T AR
(&) EERIEE

{BY ==

() ==

(D) HETS

s A e T |
(A) TR RN E
(B} T A
(G) A R
O} TR

=T ] S I
(A) ST
(B) S
(C} TR
B
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v} Test of Language : English

Eirgqtipns_.{t]g._‘lﬂ — 165) : For cach kay Di_mr;tim;rs. (Qs. 166 —170) : For each key
word are given four suggested meanings. word ara given lour suggested meanings.
Choose the word which s mast nearly tha Choese the word which is apposite in
-same to the key ward. maaﬁing ot ey wiord,
161, Hoist 166 Ugly
(A} elevate (Al repelient
(B lower (B)  uncormely
(G} host iG] atfractive
(D) degrade _{U]__ clever
162 Bonus 167. Tarrible
(A} terror (A} hideous
(B} reward [B] devout
(G} b-III-FI]!.’ \ {G]r unfortunate
(D) punishment (D) delighiful
163.  Hadiant 168, Tenninate
(&} meteor (A} begin
B dull (B} erase
(S} beaming tﬂ}_ atolish
OF dim (D} restrain
164, Inlerpret 168. Gelastial :
(A} hide (A1 heavenly (B} earthly
(B explain (14 im;;{gihary- (0} sealed
el UL, 170, Identical
{2 suppor (&) similar
165, . Gradual {B} caongruent
(A) slow [B)  quick (C} unlike
{C) fast (DY sudden (D} inseparable




0 RO

Directions {Qs. 171 — 175) : Pick out the
maost affective word from the given words to
fill In the blank to make the sentence
meaningfully complels,

171

17E:

173,

174.

The unicn leader was very crilical
the attitude of the

I.T1;?I.T:|.EIQEIT"IT_E.‘T'I1.
Al for
(B} at
{1 on
() of

Sincethere was no evidencs to prove
him h2 was acquilted.

(&) innocent
(B) _guilh.-'
(CY ‘bhonest
(D} offence

|-congratlated Mamitha _ her
SUnCass in he examination.

(A on
(B} by
(©) in
(O with

Before getling elected, he was
to the welfare of the people.

(&) devoted

(B) attended
(&) neglectad
(¥ opposaed

175,

JOD-37L.DCX-14

schaol
garly to receive har parents at the
railway station.

Yesterday Geetha

(A wenl
(B) enlered
(C} lefl

(B} delayed

Diractions [Gs. 176 — 180) : Aead sach
sentenceto find outwhetherthers is any eror
init, the arrorif any will be in one part of the
sentence. The number of that pan (&) or (B)
o {C) is the answaer. It there is no enor the
answer is (O},

178,

T

178:

T7E

184,

Kamalesh asked the dealer (A) fwhal
was the price of thal bicycle and (B)Y
whether it is really made in
Germany, (T} Mo error (T

| am trying o finish (A) Ahis fetter for
the last one hour (B) /I wish youwould
ge away or stop disturbing me. (G}
Mo-arror (1)

He fixed a metal ladder for tha wall (&)
Bedow his window s0 a5 to be able 1o
(B} fescape fthers was a fira, (G} No
errar {LF)

Meither her brother (A) nor her
husband were able (B) 1o help in har
work, () /Mo ermor (D)

The bays (A)/retumed back home (B)/
alter a tiring day, (G} Mo errar {D)

=



JDD-S7ALDC/X:14 N Ao
Bi-rE{:“ﬂnE {QE. 181 =1 B’E} »Out of the fouwr leﬂﬂ:“ﬂn'ﬂ fq'-ﬁ. 186 - 19&:} .. HE‘E'd the
altarrativos choose the one which can he following passage caralully and base danit
substiluted for the given wordsisentence. answar the questions that faflow -

T81. A communication ransmitted trom | It was in tha evenings that Hitfer woke up,
GRS Ferson or group g another He hated aing o bat}.*'fnﬁ_ha_?tﬂiﬁﬂ'im}ﬁlcul1
E e to sleep and ;T tar dinger he Eldgmheﬁ: his
Guests round the big fireplace and talk o

1By message Cvery subject under the s um wnj o or thrpa

(C) koot Cdlock in the moming hiext marning he

(D) aption would not rize unuiéFéwad*rHFtler ale very

; : little, and neithar smoked nu‘i'drank, He kept

182, One wha denias the Bxistence of God, a vegetanan cook. ﬁmﬂﬁlﬁfbﬂmai aating
A Cardiologist meat or cooked mﬁaﬂau :a_} bad habit thay

(B}  Prestigeoys

had lad to tho deeay of past cviization He

(G} Alhoigt Never tauched ever faa or coffes and the

: chief reason for his ME@ 1o stimulants
(O} Omniprasant 566 10 have boen aniaty abaut his heaith
183, One who ean not read and write. Ho ook fittle sxamise and fad & horror of
(A} Tlitersite catching & caky m-ﬂny;fm?niﬂ‘f'i‘ﬁﬁdﬂtini He
: was deprossad at#}&th{:mghr,@ﬁj;ﬂﬁg_eaﬂy,
1B} irrespansisle befars he hag time to tcomplete f1is schamoes
(C} irrelevant ard hoped to add yeami‘*ﬁ"ﬁ_l s lifs by caretul
(D) Blind dicting.

The person ar persans who have | 188. Hitler hatag
signed at the hottormn ol a document,

1A} eating fiftls
1%} above signed (B} ‘alking on every subject undar the
(B) unsigned 5L -

C)  undersignad

{C) going to bad
(D) oversigned

(D) none of thess

183, Belonging to the same fima, 187.  Aftar dinner Hitler would
(A) Recer (A) drink tea
{B) Current (B drink coffeq
(C} Modem (C] smoke

(Y C&ntamp::-rarj.r

(D) talk to his Quesls on avery subject
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158,

188,

190

1893

Hitiat g ually o0 o ldle bacause

{A) He was always tited after hevdng
tatiead 20 moch the night before

{B)
drinks
{21

(2} Mone of thee

Hitfer was worried about his hiadlth

trecalse

tA)  His doctor said be did nat lake
ERercise

(Bl Hewass afraid that dealk Wil be
padrful

(C} He was afraid of i

pramaturaly

(R He used looat leo much

Hitler infendad 1o nrrq YERAITS 10 his lifg

()
(B}
(C
B}

by drinking coffes

by sroking day and right
oy careful dieting

Choose the word which is niot spelt

COFrecy,
(A
(C} providure

#imosphere (B)

Flural of 'brotherin-law s
(A
(B)
el
(o)

Grother-in-lauws
brolhars-in-law
brothers-in-laws
none of these

Feminine gendar of horee s
=5
Ay

(A
1)

horsgs
mars

horsen
[1arg

Me-used to consumo inbcuicatesd

smoking made him sleap mone

oy D00 more and mores exersice

rectangular
0y knowledgs

154,

125

198,

197,

2010,

-3
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Past participfe of 'ging' g
(Al sang (B) sting
S smging (D} sang
IFast terse ot 'buytiss L
[A) Broaghl fBJ L|u-‘.l.-|r|.q__;
(2) bol (D Brough
'Drives i
(A) Proper naln

(B} Collective noun
(&) Comrmon naun
2 Material noun

“This i & big projest,
[t the above santence the part of
speecn of 'big s
(A nouk
(2] werk

(B) adjective
{0Y  adverh

"Whc is he 7

The abiove sentoncs =
a0 assertive sentence
(B)  an exclamatory sontence
Wl aninterrogative sentenes
(DY an imperalive senforoe

‘Ha is writing a lattar
I'he above sentence in the passive
voice will be

(A A letter was wirillen By Firm
[B) A leller has bean written by him
() A letler is written try Bim

(L} Alelter is being writtan by him

““We have bean weriting®,

The tensa of the verb |n the abovs
semlenca is

(&)  Presont perfaat coilifuags
B} Presenl perfect

(G Pastporfest

{01 Fresent continyous
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IMPORTANT INSTRUCTIONS TO CANDIDATES

mﬂﬁmﬁ%ﬁmmﬁmﬁ3§m

This bookler contams 32 gages:

P kAl the pages of the Boaokdet
cenlr i Khag

Ensc of any detest, please agk
ihe Imvigilator for repi-lan:_@manl'uir the Booket.

Directions | Each question of incomplets
statement iz Iollowed by four aliernaiive
subnesied answers oy complations:. Ineach
case, yol are required o select the ona thal
correclly answers the guestion or complalos
the statement and blacken 48 appropriates
circla A, B, Cor D by BlussBlack Ball-Point Pon
agalnsl the guestion canzarned in the
Answar-Shest. (For V.H. candidales
corresponding circle will be blackenod
by the scribe) '

Mark your srswes By shading the aparopriata

cirder agairst ssch auesion, The Ghiche shouk]
b shadad copiatedrmitnaut lsaving any space.
[P correstriwthad nit:hamr-g |r= avern balow.

ey S ech i e e ksl Jl.'-. Ay '..Iu gJ -:j:m-rr_: h'|.:.|||-;-j
!

i RuRwy el ieted ol dede) el Jeuie)

'1'+.1_9 Candidate mAg! mak hisfeor rosgonsa
aftoz carefi’ congiderstion:

. Thera iz only ang corect angwar Lo each

guastan. You shauld blacken (@) e civclo
of the appeaprigte column, viz., A 8, Cor Do
If you biacken (@) mars than one circle
against apy ooe question, the answer will be
treated as wrono, [ you wish Lo cancal any
answer, you shoukd eornplsisly erass thal back
mark i the. cirslein the Answer-Shest. and
Ihen Bilzzken the cirde of rovised resgonsa.

oA macshing will read the moded information

i the ORMA Answer-Sheal In casa the
irfeimakon is incomplete/diferant Ffom the
information given in the application form, He
candidatove of surh candidate will a treatad
A% canoiliaed,

Uza the spacs for reugh work given in tho
Quaslion Booklet only and not on the
Answa-Shect

- You are NOT required to mark your answers

im this Booklet, All answers must be
indicated in the Answer-Shest only,

B

1

13,

14

15

T¥:

Wﬁmﬂﬂ%ﬁﬁ |
ﬁjﬁﬂﬁmﬁmgmﬁﬁmmw 4
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Go through instructions given'In Page No. 1 {Fecing Page}
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